
DAILY BASIS ASSIGNMENT 

          DAY: WEDNESDAY               CLASS: V                    DATE:06.05.2020  

         

  SUBJECT: ENGLISH 

I. The following questions are from Grammar – Noun (Countable & Uncountable 

Nouns) 

1. Find out Countable Noun among the following options: 

a. Money 

b. A cup of tea 

c. Gold 

d. Honesty 

2. Find out Countable Noun among the following options: 

a. Idea 

b. Water 

c. Crowd 

d. Sorrow 

3. Find out Countable Noun among the following options: 

a. Laughter 

b. A loaf of bread 

c. Happiness 

d. Shampoo 

4. Find out Uncountable Noun among the following options: 

a. Month 

b. Sister 

c. Memory 

d. Beauty 

5. Find out Uncountable Noun among the following: 

a. Elephant 

b. Country 

c. Rice 

d. Mountain 

 

SUBJECT: EVS 

I. Choose the correct answer                                                                                                   

1. The particular area in which a crop is grown is called a 

   a. Irrigation                  b. Farm                    c Pests                       d. Seed leaves 



2. The person who works on a farm is known as 

    a. Field                       b. Farmer                     c. Tailor                  d.  Weaver 

3. Plants of one kind grown in a particular area at a particular time are called 

     a. Farmer                    b. Firm                      c. Crops                    d. Farm 

4. The field where a crop is growing should be properly 

      a. Irrigated                  b. Pesticide                 c. Begonia              d. Reproduction 

 5.  Different crops grow in different 

      a. Seedling                     b. Seasons                 c. Explosion          d. Expansion  

 

SUBJECT: MATHS 

 

I. Choose the correct option: 

1. 276×25×4=……. 

a)34600                            b) 65800                            c)27600                            d)45600 

2. 512×5×2=……… 

a)6420                               b)7820                               c)3620                               d)5120 

3. 218×20×5=……. 

a)62800                              b)21800                           c)79800                             d)56800 

4. 363×40×25=……… 

a)363000                            b)473000                        c)783000                            d) 933000 

5. 536×50×20=…….. 

a)786000                             b)536000                        c)896000                            d)766000 

 

SUBJECT: COMPUTER 

 

I. Choose the best options from those given below: 

i) One Petabytes is equals 

(a)  1024x1024 Megabytes (b) 1024 Gigabytes     (c) 1024 Terabyte    (d) 1024 Bytes 

 

ii) A typical CD-ROM can store data up to   

(a) 400 MB   (b) 700 MB           (c) 400 GB              (d) 800 GB 



 

iii) A high volume storage device which has a magnetic medium in a rigid material disk 

(a) Floppy   (b) DVD       (c) CD-ROM         (d) Hard Disk 

 

iv) USB stands for 

(a) Uniform Serial Bus                                            (b) Universal Serial BUS 

            (c) Unified Series Bus                                              (d) Unity Series Bus 

 

v) A typical hard disk capacity ranges up to ________ and above 

(a) 60 GB  (b) 80 GB                (c) 120 GB      (d) 100 GB 

 

 

ह िंदी असाइनमेंट 

 

  नीचे दिए बहुविकल्पी प्रश्नों का सही विकल्प चुने । 

प्रश्न 1) शास्त्री जी का जन्म कहााँ हुआ था ? 

क) उत्तर प्रिेश में          ख) महाराष्ट्र में          ग) दिल्ली में      घ) आसाम में 

प्रश्न 2) शास्त्री जी के वपता क्या थे ? 

क) डॉक्टर             ख) अध्यापक            ग) प्रधानमंरी           घ) पुललस 

प्रश्न 3) शास्त्री जी अपनी पढाई पूरी करने के ललए ककस के घर गए ? 

क) मामा के घर        ख) चाचा के घर          ग) लमर के घर       घ) मौसी के घर 

प्रश्न 4) ‘मधुर ‘ का सही विलोम शब्ि क्या है ? 

क) कड़िाहट            ख) कठोरता            ग) कटु          घ) कठोर 

प्रश्न 5) ‘मैं ‘ कौन सा शब्ि है ?  

क) संज्ञा            ख) विशेषण               ग) सिवनाम        घ) किया 
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